Pre-Calculus Hyperbolas -
Homework Worksheet

Graph the hyperbola and identify the center, vertices, foci, and asymptotes.
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Find the standard form of the equation of each hyperbola satisfying the given conditions.

7. Center: (4, -2); Focus: (7, -2); Vertex: (6, -2) 8. Center: (-2, 1); Focus: (-2, 6); Vertex: (-2, 4)
A 2 , f)i: o
(x+4)" — 4 - | i 2 2 ;
e - S'—. ‘ —_— KTZ - ' 4o
H q | L1,
, e e T*
c*= = q -fL S R Z_ 7'_”0’1—
1 fdvps L= 5 | Cc =Q b,
Convert each equation to standard form by completing the square. dS=4 ‘“’7
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